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Given expected value T{X+8) = 20 and E[(X-F-S)z] =323,
(a). Find the variance Var(3X+8). (10%)
(h). Find the expected value B[(X-5)"]. (10%)
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The probability density Lunction of the random variance X is given by

1) = { (@a+bx+x’) for0<x<l
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M= (=)
Given expected value E(X+8) ~ 20 and E[(X+5Y"] = 325,
(a). Find the variance Var(3X !8). (10%)
(b). Find the expected value E[(X-5)"]. (10%)
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The probability density function of the random variance X is given by
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Given expeeted value E(X) = ; , please find the value a and b. (20%)
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